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exec = manager->create_task(TASK_EXEC);
exec—>set_inDatal(0,
file_mmap + i*division_size,
size);
exec—>set_outData(0,o_data + i*out_size,
division_out_size);

exec->set_cpu(spe_cpu) ;
exec->spawn() ;
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wordcount (SchedTask *s, void *rbuf, void *wbuf)

{
char *i_data = (char *)s->get_input(0);
unsigned long long *o_data =

(unsigned long long *)s->get_output(0);

unsigned long long *head_tail_flag =
o_data + 2;
int length = (int)s->get_inputSize(0);

head_tail_flag[0] =
(i_data[0] != 0x20) &&
(i_data[0] !'= 0x04);

word_num -= 1-head_tail_flag[0];

for (; i < length; i++) {

if (i_datal[il == 0x20) {
word_flag = 1;

} else if (i_datal[i] == 0x0A) {
line_num += 1;
word_flag = 1;

} else {
word_num += word_flag;
word_flag = O;

word_num += word_flag;

head_tail_flag[1] =
(i_datali-1] !'= 0x20) &&
(i_datal[i-1] != 0x0A);

o_data[0] = (unsigned long long)word_num;
o_data[1] = (unsigned long long)line_num;

return 0O;
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ssize_t pread(int d, void *buf, size_t nbyte, off_t offset);
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HTaskPtr t_read =

manager->create_task (READ_TASK) ;
t_read->set_cpu(DEVICE_TYPE);
t_read->set_outData(0,

file_mmap + task_num * division_size,

task_blocks * division_size);
t_read->set_param(0,fd);
t_read->set_param(1,task_num*division_size);

run_tasks(manager,w, task_blocks,D );

t_read->set_param(2,task_num*division_size);
t_read->spawn() ;
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static int

read_task(SchedTask *s, void *rbuf, void *wbuf)

{
long fd = (long)s->get_param(0);

long start_read_position =
(long) s->get_param(1) ;

long end_read_position =
(long) s->get_param(2) ;

char *read_text =
(char*)s->get_output (wbuf,0) ;

long read_size = end_read_position -

start_read_position;

pread(fd, read_text,
read_size , start_read_position);

return 0O;
}
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